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Sr Questions Answers Choice

1 Teh person who has ........ silver is liable to pay Zakat.
A. 12.5 tolas
B. 32 tolas
C. 53 Tolas
D. 75 Tolas

2 A person who has...... gold is liale to pay zakat.
A. 7.5 Tolas
B. 4,5 Tolas
C. 4 tolas
D. 8.5 Tolas

3 The rate of Zakat is.
A. 1%
B. 2%
C. 2.5%
D. 5%

4 Who is called لیبسلا نبا 
A. The poor
B. Orphan
C. Passenger
D. Debtor

5 Zakat is the best source of Welfare.
A. Social
B. Religious
C. Political
D. Economical

6 Kinds of people who are entitied to Zakat are.
A. 6
B. 8
C. 10
D. 12

7 Who did Jehad against those who denied to pay Zakat.
A. Hazrat Usman (R.A)
B. Hazrat Ali (R.A)
C. Hazrat Abu Bakr Siddique (R.A)
D. Hazrat Khalid (R.A)

8 Paying of Zakat causes increases is.
A. Family members
B. Weapons
C. Wealth
D. Neighbours

9 The verbal meaning of Zakat is
A. To purify
B. To grow
C. To enlarge
D. All of these

10 The verbal meaning of zakat is.
A. To purify
B. To grow
C. To enlarge
D. All of these


